$$\frac{AM-GM \operatorname{Inequality}}{N} := a, b \in \mathbb{R}^{+}, \frac{a+b}{2} \ge \sqrt{ab}$$

$$\frac{A(1)}{n}, a_{1}, \dots, a_{n} \in \mathbb{R}^{+}, \# m, \qquad a_{1} + a_{2} + a_{3} + \dots + a_{n} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}} \xrightarrow{} \frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}} \xrightarrow{} \frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}} \xrightarrow{} \frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}} \xrightarrow{} \frac{A(1 + a_{2} + a_{2} + \dots + a_{n})}{N}$$

$$\frac{A(1 + a_{2} + a_{3} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{1} \dots a_{n}} \xrightarrow{} \frac{A(1 + a_{2} + \dots + a_{n})}{N}$$

$$\frac{A(1 + a_{2} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{2} \dots - a_{n}} \xrightarrow{} \frac{A(1 + a_{2} + \dots + a_{n})}{N} \xrightarrow{} \sqrt{q_{1}a_{2} \dots - a_{n}}} \xrightarrow{} \frac{A(1 + a_{2} + \dots + a_{n})}{N}$$

$$\Rightarrow \frac{\alpha_1 + \alpha_2 + \cdots + \alpha_{2n}}{2n} \geq \frac{2n}{\alpha_1 \alpha_2 \cdots \alpha_{2n} \alpha_{2n}}$$

$$\leq w get P_n \Rightarrow P_{2n}$$

So we get General AN >GM as take
(*) Another proof will be discussed when proof writing will be discussed.
(*) Find the maximum value of
$$\alpha(1-x^3)$$
 for $0 \le x \le 1$
Another $0 \ge -x \ge -1$
 $0 \ge -x^3 \ge -1$
 $1 \ge 1-x^3 \ge 0$
 $1 \ge x \ge 0$
 $1 \ge x(1-x^3) \ge 0$
(*) The idea of the proof is to enchange the product for
 α worker out its such a weary these the sum of the
elsements becomes constant.
(*) $2 = \alpha^2 (1-x^3) (1-x^3) (1-x^3) \longrightarrow (G_{M})^{1/3}$
 $3 = \frac{3}{4} \frac{1}{4} (1-x^3) (1-x^3) (1-x^3) \longrightarrow (G_{M})^{1/3}$
 $\Rightarrow y^3 \le (\frac{3}{4})^{1/3}$
 $\Rightarrow y^3 \le (\frac{3}{4})^{1/3}$
 $\Rightarrow \alpha(1-x^3) \le \frac{3}{4} \frac{3}{4} \frac{3}{4} \frac{1}{4}$
Measurement value is reached when all elsevents of the Am >GM
are equal to be ached when all elsevents of the Am >GM
 $\alpha = \frac{3}{4} \frac{3}{4} \frac{3}{4} \frac{3}{4} \frac{1}{4} = \frac{1}{2}$

one equal The value of x at which which
$$1 = \frac{1}{4} \Rightarrow x = \frac{1}{\sqrt{4}}$$

 $3x^{2} = (1-x^{3}) \Rightarrow 4x^{3} = 1 \Rightarrow x^{3} = \frac{1}{4} \Rightarrow x = \frac{1}{\sqrt{4}}$

$$O > For n, y \in \mathbb{R} \text{ prove that } x^{i} + y^{i} + 8 > 8 ny$$

$$Ans! - \frac{x^{i} + y^{i} + 4 + 4}{4} > 4 4 \cdot 4 \cdot n^{i} y^{i} \iff AM - GM \text{ mequal by}$$

$$\Rightarrow x^{i} + y^{i} + 8 > 4 \cdot 2^{h/4} ny = 8ny$$

 $\exists \frac{\chi_{y}}{2} + \frac{\chi_{z}}{2} + \frac{2\chi}{2} > \frac{\chi_{y}}{2} + \frac{\chi_{z}}{2} > \frac{\chi_{z}}{2} + \frac{\chi_{z}}{2} +$

(a) Let
$$n_1 > 0$$
, $i = 1, \dots, n$. Prove that,
 $(n_1 + n_2 + \dots + n_n) \left(\frac{1}{n_1} + \frac{1}{n_2} + \dots + \frac{1}{n_n} \right) > n^2$

An:- Home Wark Q> If a,b,c>O and (1+a)(1+b)(1+c) = 8 then prove that abc <1

$$Q > Q_0 = 1, Q_1 = 1, Q_N = Q_{N-1}Q_{N-2} + 1, N > 1$$

$$Q_{165} \quad and \quad Q_{466} \qquad Q_2 = odd \times odd + 1 = even$$

$$Q_3 = vven \times (e_1) + 1 = odd$$

$$Q_6 = odd$$

$$Q_7 = odd$$